N
<
=
Q
[
<

> 'é\ ,é\
o El El
e 2 g
E S S
3 E b5

>
<1072 1072 51072
@/ (0]
5 5

=

S

=

107

o(d X

1 10 102 %61337 ( Ge\})o“

—— DQM_original_ste A_EILUUU_e[aA 5t04p0
—_— DéM_mk it SthP _Pt 000_etazp t04d)
—— DOQM™pixelCPETemplate step2 pt1000 eta2p5to4p0
> 10™ ] Tt §10_1 E: 107"
o : 3
2 >
g o
2 o
>1072 102
Qo
S

a(2 y) for merged vertices (m)
o
1

-1 — —1 — -1
> 10 £10 £10
. = =
£ N 0
£ g £
= o : §
ElO'Z 102k 5 107
5 >
£
S
-3 -3 N1 -3
10 10 o 10
o
-910_41_ ‘910_4 P ......! P ......!
© I
o @
0.5 0.5
0 0




	Contents
	Page 1


